(2)HERRKRE(T2—4)

(F Rk 304)
w 1,000g | 1,000~ 1,500~ | 2,000~ 2,500g -
o T
R | 1,500g3K 7 | 2,000k | 2,500g kK| UL
£ H 918,400 2,816 3,926 10,981 68,546 | 832,007 124
I B 2 13,720 43 59 157 989 12,470 2
BERRE 1,459 2 4 16 103 1,333 1
EF LA 437 0 1 5 34 397 -
BEM 637 1 2 8 42 583 1
IR ET 66 - 1 0 5 60 -
= SNy 38 - - 0 3 35 -
JIIDET 69 0 0 2 8 59 -
L RET 13 - - - 4 9 -
J\E 2T 49 - 1 3 45 -
=ML 28 - - - 1 27 -
E4=1]11:) 10 - - - 0 10 -
1) BT 112 1 - 0 3 108
(3) FERANEIRE R (2,500gK i) E# - R (T2—5)
ER2145E ER22% FR235 FRk245 FRL25%5F
= =E 102,671 96| 103,049 96] 100378 9.6 99,311 9.6 98,624 96
I B2 1,622 9.4 1,569 93 1,627 9.7 1575 95 1,496 94
BN 170 9.4 167 93 168 9.0 155 8.7 160 9.1
EFbA 41 8.0 41 8.3 56 10.7 37 73 43 8.7
AR 87 10.3 87 104 73 8.3 84 10.2 61 77
IR ET 5 6.8 5 9.6 2 2.7 1 16 9 115
= HNET 5 1.9 5 104 5 9.6 3 6.1 4 9.1
JIIDET 6 78 7 8.9 8 1.6 3 45 7 8.8
+RET 2 18.2 1 34 - 0.0 2 0.0 4 222
J\E T 4 6.9 9 136 6 9.8 12 176 13 20.3
=ML 3 6.7 3 5.8 4 8.9 4 8.3 5 15.6
= )IF 2 182 2 1.8 2 18.2 1 71 - 0.0
& 15 15 7 55 12 9.1 8 6.0 14 10.1
k264 ERk274 k284 ER29% SERL30E
£ = 95,768 9.5 95,206 9.5 92,082 9.7 89,353 9.4 86,269 94
I B 2 1,322 8.7 1,402 9.1 1,314 9.4 1,314 9.4 1,248 9.1
EISER 145 8.6 172 10.1 156 9.8 156 9.8 125 8.6
ERmEm 41 8.1 41 8.5 48 8.4 38 8.4 40 9.2
AR 64 8.3 87 108 67 11.4 85 11.4 53 8.3
IR ET 7 13.7 6 9.7 5 10.7 6 10.7 6 9.1
= n#r 3 75 2 5.0 2 9.5 4 95 3 79
)11 iBET 2 2.8 9 13.2 6 10.4 7 10.4 10 145
+RET - 0.0 3 176 2 0.0 - 0.0 4 30.8
J\EZHET 9 148 6 9.5 9 9.3 5 9.3 4 8.2
B )11 BT 4 105 5 135 - 0.0 - 0.0 1 36
ES=1IES] - 0.0 1 8.3 - 125 1 125 - 0.0
& T 15 12.1 12 10.5 12 8.7 10 8.7 4 3.6
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